
 
 
 
 

Examination report – June 2013 series 
 

              2730-022 Advanced telecommunication systems 
 
Section 1 – Areas of good performance  

 
Syllabus reference: 1.16, 1.19 – DHCP, multicasting. 
These parts were answered reasonably well indicating a reasonable understanding in this area. 
 
Syllabus reference: 1.9, 2.2, 2.6, 2.9 – TTL, standards. 
Answered well by most candidates, although the explanations given for the roles of the Institute of 
Electrical and Electronic Engineers (IEEE) and International Telecommunications Union (ITU) in 
the development of standards were very brief, costing marks. 
 
Syllabus reference: 3.4, 3.5, 3.12 – Optical fibres. 
This part was answered reasonably well by most candidates. 
 
Syllabus reference: 3.7, 3.16 – Optical fibres. 
These parts were answered very well by most candidates. 
 
Syllabus reference: 5.3, 5.5, 5.9 – Distance vector routing, convergence. 
These parts were answered reasonably well, a lack of detail in the descriptions of the routing 
updating process of the distance vector routing protocol sometimes cost marks. 
 
Syllabus reference: 5.27, 5.28, 5.29 – Network loops, switching methods. 
Both parts answered reasonably well. 
 
Syllabus reference: 6.5, 6.6 – Ins. 
Both parts answered reasonably well, although descriptions of two benefits of their use with 
reference to an Intelligent Network (IN), could have been more detailed. 
 
Syllabus reference: 6.5, 6.6 – Ins. 
These parts were answered well.  
 
Syllabus reference: 7,5, 7.19 – IDCs. 
These parts were answered reasonably well. 
 
Syllabus reference: 8.11, 8.14 – Encryption, digital certificates. 
Answered well. 
 
Section 2 – Areas for development  

 
Syllabus reference: 1.3 – Subnetting. 
Answers were mostly inaccurate showing a lack of understanding in this area. 
 
Syllabus reference: 3.10 – Optical fibres. 
Very few candidates gave correct explanations for a graded indexed fibre. 
 
Syllabus reference: 4.7, 4.9, 4.12 – ATM protocol. 
All parts were answered very poorly showing a lack of knowledge with respect ATM. 
 
 



 
Syllabus reference: 5.24 – Switch collision domains. 
Very few candidates gave correct answers, most answers were very brief and incorrect. 
 
Syllabus reference: 7.13 – IDCs. 
Many candidates failed to answer the question correctly, many simply repeating the wording in the 
question. 
 
Syllabus reference: 8.5 – NMS. 
Answers were very varied, mostly incorrect showing a lack of understanding. 
 
Section 3 – Tips 

 
Read questions carefully re- descriptions, explanations etc. Produce neat legible diagrams if asked 
for. 
 
 


